KB12/KB12VD/KS48C
o R IR v

q‘%&‘@:
o ALE TR DR DS SRS IR, e S A TR
o R E ARGV IRAL T 58 M 4 HE L R AR T
« KB12(VB) & R AU I i+ B 4% i RAEBUE b

« KB12(VB)
o KBL27 7 8RNl 5 R e i HE R

« KB12VDH1 KSA48C i R 5 inid R FH IEPE Ha [ 4 H T 35
» KS48CHH2 L IP6 77445 2%

Sinder 713

140 BB PEE TSR 23 B B IR AT i B 1 5 s it AT I 2 O

L 7 oben
. Owms g
B 7 top
o, TR ., KB12(VB ) |
S | IP67
KB12 KB12VD KS48C L ¥ DA
fil tH CER IEPE IEPE
B R ik iz L]
A R U Baa 6500 + 20% - - pClg
o R U Bua - 10 000 + 10 % 1000 + 5 % mV/g
B as/a +3 +0,6 +6 g
T 45 % R amax 200 200 1000 g
AT fa s 260160130 0,08 .. 260 0,1 .. 4000 Hz
fi00 0,16 .. 160 0,2 .. 2600 Hz
fo 0 0,25 ..130 0,3 .. 2000 Hz
LIRS i > 0,35 (+15dB) | > 0,35 (+15 dB) > 7 (+25 dB) kHz
1 7] R AR T"9omax <5 <5 <5 %
PR (BT an vide band - <1 (0,5..300) <13 (0,5..10000) | ug (Hz)
sk 7 2 i 0,1Hz | an - 0,3 1 ug/NHz
1Hz | an - 0,06 0,6 ug/NHz
10 Hz | ams - 0,03 0,1 ug/NHz
100 Hz | am - 0,06 ug/NHz
E LA A lconst - 2..20 2..20 mA
i B 4 HH FELE (Iconst=4 MA,; T=25°C) Usias - 12..14 12..14 Y
St FAPL (Iconst=4 MA) rour - <130 <130 Q
TR g Ci 15 - - nF
THRENSSE
ARG Tnin/ Tmax -20/80 -20/80 -20/120 °C
R R S TK(B_a) -0,11 +0,02(-20..40°C) | #0,02(-20..20°C) | %/K
>-0,08(40..80°C) | -0,05 (20..80°C)
-0,12(80..120°C)
W A R TK(C) 0,26 - - %/K
T o 5 S R AU bar 0,01 0,002 0,0005 ms-2/K
W 7 R A bap 0,1 0,1 ms-/kPa
AE(LETE) m 150/5,3 150/5,3 165/5.8 g/oz
Y FM R H H NG
B9k el el |
fm| UNF10-32 UNF10-32 Binder 713
ik M5 / M10 M5 / M10 M8

(1) hnsd R AT FE N AR 2% RIBE A 2%




£t s )
SRR P 7 R ek th 4%
KB12(VD) L1 Hoise g Hoise
1 3 10 3
oz, Bua(f) fWr 1
a0 !' 01 '—\"1,7 1 i T
1 ERLY
20 ] ""IWI‘ = W‘i‘%
J 001 4 01 1 i
10 A E gt "w
a /...— il 0,00 T S ] T
A 0,1 1 1m  Hz 0 1 10 g 100
Buai
;}8 M KB12(VD) Z3¥k%(standard accessory):
5
20 o
10 o 2
/ @ ~ Saenkungen mit PVC-
0 1 £8 Isolierscheibe fiir
P g §L Zylinderschrauben M3 zum
] B g Aufnehmerboden
-10 7 2 E
01 1 10 100 1000 Hz E.'_i Counlarbore for cylinder
' _3 2 head screws M3 with
KS48C S PVC washers to attach
accelerometer basa
KS48CHE:LRIF T
1 558
2. ©TH
3 E5HH
4 TH
KB12 . | KB12VD . KS48C .
EERHE - *009-UNF-UNF-1,5.Low noise cable 2xUMF ~0B0GMW: angled (W) or straight (G) plugwith 4
10-32;1.5m., pins Mod. Binder 713 with screw terminals and
*009-UNF-BNC-1,5 Lownoise cable 2 x UNF Pa7 cable glandforcable @4, &6 mm; IPGT.,
10-32/BMC; 1.5 m., *085-B713G-PIG-5/085-BT13W-PIG-5 shielded
*010-UNF-BNC-5: Low noise cable LIMF 10-327 cable;5mlong; PUR jacket@ 6 mm; with
BMC;5m.. angled (W) orstraight (G) plug Binder713
*010-UNF-BNC-10: Low noise cable LINF 10-32 / (IFG6Tyand pigtail .
BMC;10m.. *085-B713G-BENC-5/085-B7T13W-BENC-5:
=017 Adapter UMF 10-32/ BNC . shielded cable; 5 mlong; FUR jacket @ 6 mm;
with angled (W) or straight (G) plug Binder713
(IP&7)and BNC plug .
FrEERHE: . *003: Mounting stud M5, «043: Mounting stud M3 .. B
*045: Thread adapter M5/ UNF 10-32., *044: Thread adapter M8/ M5 (inngn)..
*046: Thread adapterMs/ 1/47-28., 206 Insulatingflange M8.,
008: Magnetic base M5 (Attention - shock load)., |*229: Stainless steel adhesive pad M3,
=330: Traxial mounting cubeh10., »208: Magnetic base M8,
+729: Floor plate with tripod (KS823B). +230: Triaxial mounting cube M2,
* 729 Floor plate with tripod (KS8238)..
«700: Underwater pressure hull .

bR E R BINLE TEFRA A

BEIING LINKSGATE M&E Engineering Co., Ltd
oo ohb: JERTTTR M X IR N E FR PO 7#90 8% 1603 = (102600)

i 010-8818 9552

www.linksgate.cn

fEH: 010-8818 9552
Email: info@linksgate.cn

LINKSGATE


http://www.linksgate.cn/�

